BRI A« iAok (ki)

(AR S5 5%)

I RABEFEHER LD LR (T Az O)
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1| 100 f#/mL 3 0 0 12
2 | KIGE 3 MShienze 0 12
3 Ry ROEDLEY 0.003 mg/L. | <0.0003 < 0.0003 < 0.0003 (@) 4
4 KRR OZEDIEY 0.0005 mg/L. | < 0.00005 < 0.00005 < 0.00005 (e} 4
5 [ELv ROZEDILEY 0.01 mg/L <0.001 < 0.001 <0.001 (@) 4
6 |[$hk O EDILED 0.01 mg/L <0.001 <0.001 <0.001 (e} 4
7 |eREKROTOIED 0.01 mg/L 0.001 < 0.001 <0.001 (@) 4
8 |Aflizusfbaw 0.02 mg/L < 0.005 < 0.005 < 0.005 o 4
9 |dififEREEE R 0.04 mg/L <0.004 < 0.004 <0.004 (e} 4
10 (v 7 A AA > RO s T 0.01 mg/L < 0.001 < 0.001 < 0.001 4
11 |fiieRe s 3 ) OV AR RE 28 10 mg/L 0.6 0.2 0.4 (@) 4
12 |7vR K OZEDOLED 0.8 mg/L 0.08 0.08 0.08 o 4
13 |RUEKOZDILEY 1.0 mg/L <002 <002 <002 (@) 4
14 |UEAb SR 0.002 mg/L <0.0002 < 0.0002 < 0.0002 (e} 4
15 [1,4-2A%H 0.05 mg/L < 0.005 < 0.005 < 0.005 (@) 4
16 Z/ié’g;;fl‘j;;z‘;; .y 0.04 me/L | <0004 <0004 <0004 o 4
17 |Yrmaxzy 0.02 mg/L <0.002 <0.002 <0.002 (@) 4
18 |FrF/mnzFL 0.01 mg/L < 0.001 <0001 < 0.001 o 4
19 [Fyor=FLv 0.01 mg/L < 0.001 < 0.001 < 0.001 o 4
20 [~NoBY 0.01 mg/L < 0.001 < 0.001 < 0.001 o 4
21 |HEFRmE 0.6 mg/L 0.07 <0.06 <0.06 4
22 |/ 0.02 mg/L <0.002 <0.002 < 0.002 4
23 |ramkiLa 0.06 mg/L 0.001 < 0.001 < 0.001 4
24 |V raafim; 0.03 mg/L <0.003 < 0.003 <0.003 4
25 |7 mEraary 0.1 mg/L 0.001 < 0.001 < 0.001 4
26 |5LFRMwE 0.01 mg/L <0.001 <0.001 <0.001 (e} 4
27 (MR ~mAZY 0.1 mg/L 0.004 0.001 0.002 4
28 N7 mufEg 0.03 mg/L < 0.003 <0.003 <0.003 4
29 |TmEYymnAR 0.03 mg/L 0.002 0.001 0.001 4
30 |7 rERLA 0.09 mg/L < 0.001 <0001 < 0.001 4
31 |RALLTAFER 0.08 mg/L < 0.008 <0008 < 0.008 4
32 [Higp K O DG 1.0 mg/L <o.1 <01 <o.1 (e} 4
33 [TAR=T LR IZEDILAY 0.2 mg/L <001 <001 <001 (@) 5
34 (B R OEDLEY 0.3 mg/L <0.03 <0.03 <0.03 (e} 4
35 |[$ikOEDLEY 1.0 mg/L <0.1 <01 <0.1 (@) 4
36 [FRIT AR OEDEY 200 mg/L 7.3 6.3 6.8 (e} 4
37 |~ W ROEDILEY) 0.05 mg/L < 0.001 < 0.001 < 0.001 o 12
38 |HEfes A 200 mg/L 83 5.3 6.7 12
39 [T L =T R N () 300 mg/L 60 50 54 (@] 5
40 |ZRFEIRRY 500 mg/L 96 85 90 (@) 5
41 (BaA A FETE A 0.2 mg/L <002 <002 <002 O 4
42 [V AI 0.00001 mg/L. | <0.000001 | <0.000001 | < 0.000001 o 4
43 |2-AF AV RN FF— )L 0.00001 mg/L. | <0.000001 | <0.000001 | < 0.000001 o 4
44 |FEAA T A 0.02 mg/L < 0.005 < 0.005 <0.005 o 4
45 |7=/—/L 3 0.005 mg/L. | < 0.0005 < 0.0005 < 0.0005 O 4
46 |fH (RATHERF (TOC) O ) 3 mg/L 0.7 04 0.6 12
47 |pHifE 5800 L8.6LL T 7.7 7.2 73 12
48 B ik HEThRnZL 0 12
49 [R5 & BEThRnIE 0 12
50 | SEELLT JE <1 <1 <1 12
51 |HfE 2RELLF JEE <0.1 <0.1 <01 12

K C 25.8 9.3 17.6 13

PR mg/L 0.7 0.5 05 13
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No. KEEHREERERH EREL(N HAAT v M T L
1 7o FEFE O Z0ED 0.02 mg/L < 0.002 1
207 5 v Kk W E O LA B 0.002 mg/L < 0.0002 1
=y b v kR EOANAAEWY 0.02 mg/L < 0.001 1
5112- ¥ 7 v v = % | 0004 mg/L < 0.0004 1
8 |k Ju - v 0.4 mg/L <0.02 1
9 THEALEBYEQ- T F L ANFI) 0.08 mg/L <0.008 1
B3 Z7wvnmn 7 vh="FUL 0.01 mg/L < 0.001 < 0.001 < 0.001 2
Ui Xk 7 v Z — 0.02 mg/L <0.002 < 0.002 < 0.002 2
15 2 3 3 1 <0.01 <0.01 <0.01 7
16 7% ® i} F 1 mg/L 0.7 05 05 13
19 |ifF Afe R fi% 20 mg/L 20 1
20 LI,lI- YV 7 mowm o= X v 0.3 mg/L <0.03 1
20 A F NV ~t- T F L T — F N 0.02 mg/L <0.002 1
22 W EGR~ L TR Y LR &) 3 mg/L 0.9 1
23 R £ G = (TON) 3 <1 1
2T R (T 7Y T 8 %) -1~0 -0.38 1
28 it & ®OOE A [ 2000 & /mL 2 0 1 2
291,1- ¥ 7 oo = F L o 0.1 {E,/mL < 0.002 1
31 P F OS K& " P F O Al 0.00005 mg/L < 0.000005/ < 0.000005 < 0.000005 2
e 14 14 14ER A A

e el e BRI RoME | THE | m/E
7K i C 258 9.3 176 13
V2NN A N S B v BN 1 /20L 0 1
v 7 v o 7 1 /20L 0 1
K 15 ] M P N 1E/100mL 0
s S - R R {&/100mL 0
1,2 ¥ 7 ma v 7 a N v mg/L 0
- ¥ /7 v n X v ¥ v mg/L 0
7 v ® = T W =E # mg/L 0
b % ) B £ = k B (COD) mg/L 0
b ) 7 U mg/L 0
Vil L > 4 N mg/L 0
¥ g % v mg/L 0
7 =4 = - A v A 0
% i3 BE mg/L 0
ES s % ot FE 0
18 1k L7 A 7 N mg/L 0
fiF§ [ f& %= F mg/L 0
= & M E B kB mg/L 0
A WAk ) ER F# E R B (BOD) mg/L 0
2 = e mg/L 0
4 U v mg/L 0
i 7 L 7 ) E mg/L 0
& B {5 i 3 wS/cm 0
MU ~Nm X % v A R B mg/L 0
JN = ~F Y oM &E mg/L 0
% itz LY = (SS) mg/L 0
v o * e 73 mg/L 0
# O M K B OW B 0
O OM #E O K M 0
< a s D % N mg/L 0
TV T TR ANZEONLED mg/L 0
mom . m  ® me/L 0
w4 @ mg/L 0
e 17 [ F mg/L 0
i fi% A 7+ v mg/L 0
U v i3 A 7+ v mg/L 0




PR« Aok (Foki)

- " 1 1Fm T T | RahE — " 1 W G TR | R
No i HERE | RO mow | mais | wl | moe | | ia HERE B gl maE | waE | mE
1 1,3—y 7/~ (D—-—D) 0.05 mg/L 0 59 |F 7 v 7 V% - 0.08 mg/L < 0.0008 < 0.0008 < 0.0008 7
212, 2 —DPA (¥ 7 & ) 0.08 mg/L 0 60 [+ 4+ 7 7 X — b A F 0.3 mg/L < 0.003 < 0.003 < 0.003 7
312, 4 — D (2 , 4 — P A) 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 61 |F 7 ~ b 7 V% - 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
4 |E P N[ 0.004 mg/L < 0.00004 < 0.00004 < 0.00004 7 62 T 7 V) iz k D) 74 > 0.002 mg/L < 0.00002 < 0.00002 < 0.00002 7
5 M C P Al 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7 63 |5 v 7 7 (MBPMC) 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
6 |7 v =X I 0.9 mg/L < 0.009 < 0.009 < 0.009 7 64 |k D) 7 1= = JLl 0.006 mg/L < 0.00006 < 0.00006 < 0.00006 7
7|7 + 7 E= — K 0.006 mg/L < 0.00006 < 0.00006 < 0.00006 7 65| U 7 v L &k v (D E P ) 0.005 mg/L 0
8 |7 K 7 D2 N 0.01 mg/L < 0.0001 < 0.0001 < 0.0001 7 66 |k V) D 7 7 > — iz 0.1 mg/L < 0.001 < 0.001 < 0.001 7
9 |7 = 7 Ny A1 0.003 mg/L < 0.00003 < 0.00003 < 0.00003 7 67 |k V) 7 iz 7 D) Mg 0.06 mg/L < 0.0006 < 0.0006 < 0.0006 7
10 |7 2 k 7 2| 0.006 mg/L 0 68 | A = A N K 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
11 |7 7 7 =4 — V% 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7 69 /% 7 = — k 0.005 mg/L 0
12 |4 V4 X a ¥ 7 >~ 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7 70 ¥ ~ =i RN A1 0.0009 mg/L 0
13 |1 V 7 - M Ny A1 0.001 mg/L < 0.00003 < 0.00003 < 0.00003 7 71 & v 7 =] = Jv 0.01 mg/L 0
44 Y a7 (MIPC) 0.01 mg/L < 0.0001 < 0.0001 < 0.0001 7 72 ¥ 7 ' ¥ D4 7 ES > 0.004 mg/L < 0.00004 < 0.00004 < 0.00004 7
54 Y 7 nua F 4+ 55+ (1PT) 0.3 mg/L < 0.003 < 0.003 < 0.003 7 B EIVIRx—rF(ETS L —]F) 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
6 A4 7 7 = ¥ H v X Y U 0002 mg/L < 0.00002 < 0.00002 < 0.00002 7 4V X 7 = v F F v 0.002 mg/L < 0.00002 < 0.00002 < 0.00002 7
174 7 v X vk 2 (1B P ) 0.09 mg/L < 0.0009 < 0.0009 < 0.0009 7 75 & V) -7 F 7 iz - 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
18 |1 N / 7 pd D >~ 0.006 mg/L 0 76 B = ES =i Mg 0.05 mg/L 0
19 |4 Mg s J 7 7 > 0.009 mg/L < 0.00009 < 0.00009 < 0.00009 7 77 |7 ~ - =4 = JL 0.0005 mg/L < 0.000005 < 0.000005 < 0.000005 7
20 |— s A = 7 v 7 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7 17 ==t F 4 v (MEP) 0.01 mg/L 0
20l v 7 = v 7 v v 7 R 0.08 mg/L < 0.0008 < 0.0008 < 0.0008 7 97 =/ 7 7 (BPMC) 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
Wl m A LT (RS ) 0.01 mg/L 0 80 |7 E= D) N ' M 0.05 mg/L 0
23 |4 ¥ W DA =S S N 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 81 |7 = » F 4+ v (M P P ) 0.006 mg/L < 0.00006 < 0.00006 < 0.00006 7
24 |4 X D4 M Eib) 0.03 mg/L 0 82 |7 = v b = — k (P A P ) 0.007 mg/L < 0.00007 < 0.00007 < 0.00007 7
25 |4 D) Va A ~ =4 = M 0.1 mg/L < 0.001 < 0.001 < 0.001 7 83 7 B b k 7 Vi N K 0.01 mg/L < 0.0001 < 0.0001 < 0.0001 7
26 |71 z s ANy A 0.0006 mg/L < 0.000006 < 0.000006 < 0.000006 7 84 |7 s 7 A r 0.1 mg/L < 0.001 < 0.001 < 0.001 7
27 | 7 = v A k = — JL| 0.008 mg/L < 0.00008 < 0.00008 < 0.00008 7 85 |7 4 7 = b v 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
28 |71 v pd > v 0.08 mg/L 0 86 |7 X N AN A 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
29 | o N U 5 (N A C ) 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 87 |7 a =4 7 E= 2 Mg 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
30 |7 v R 7 =7 > 0.0003 mg/L < 0.000003 < 0.000003 < 0.000003 7 88 |7 v 7 D2 v N 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
31|l » v 5 3 » (A C N ) 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7 89 |7 v ¥ 7 7 = b Jv 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7
32 |% hd A i N 0.3 mg/L < 0.003 < 0.003 < 0.003 7 90 |7 =i v 2 F Mg 0.09 mg/L < 0.0009 < 0.0009 < 0.0009 7
33 |7 N Vi = N 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7 91 |7 = ¥ 7% Ny A 0.007 mg/L 0
34 |7 D) BN a — k 2 mg/L 0 92 |7 =i =4 = 7 ‘/ — v 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7
35 |7 V% Ny v ES — K 0.02 mg/L 0 93 |7 = = b Y N 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7
36 |7 = A v =i b4 v 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 94 |7 = ~ 7 ' — iz 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
377w =Frno7 = (CNP)|l 00001 mg/L 0 95 |7 = B - F N 0.1 mg/L < 0.001 < 0.001 < 0.001 7
38 (7 =4 v =8 V) N A1 0.003 mg/L < 0.00003 < 0.00003 < 0.00003 7 96 | J N v 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
39|/ v %o =, (TP N) 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7 97 |~ b v 7 =4 N 0.1 mg/L < 0.001 < 0.001 < 0.001 7
40 (v 7 v < >l 0.001 mg/L < 0.00001 < 0.00001 < 0.00001 7 98 | M Va = D4 7 = M 0.09 mg/L < 0.0009 < 0.0009 < 0.0009 7
Al 7 72 & 2 (C Y A P ) 0.003 mg/L < 0.00003 < 0.00003 < 0.00003 7 99 | N V' 7 == s > -1 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7
42|y v v v (D C M U ) 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 100 |~ M b ' Mg 0.2 mg/L < 0.002 < 0.002 < 0.002 7
431 7 m X = ) (D B N ) 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7 101 |~ N 2 s A v D) N 0.3 mg/L < 0.003 < 0.003 < 0.003 7
4412 7 m v R 2 (D DV P) 0.008 mg/L < 0.00008 < 0.00008 < 0.00008 7 102 | M 7 7 7 iz -7 0.02 mg/L 0
45 |V 7 U P4 k 0.01 mg/L 0 103X 7)Y (X280 ) 0.01 mg/L < 0.0001 < 0.0001 < 0.0001 7
46 VALK R (ZF LV TF A ANV) 0.004 mg/L < 0.00004 < 0.00004 < 0.00004 7 104 |~ Mg 7 L + — k 0.07 mg/L < 0.0007 < 0.0007 < 0.0007 7
AT | F 4 B b N A — kN F B CE 0.005 mg/L 0 105 |7~ A ¥ 7 ¥ — K 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7
48 | ¥ 74+ = Jvl 0.009 mg/L < 0.00009 < 0.00009 < 0.00009 7 106~ 7 F F v (1~ 7 Y v ) 0.7 mg/L < 0.007 < 0.007 < 0.007 7
49> N v K v J T F 1| 0.006 mg/L < 0.00006 < 0.00006 < 0.00006 7 107 A =2 7 v v 7 (M CP P ) 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7
50 v 9« v v ( cC A T ) 0.003 mg/L < 0.00003 < 0.00003 < 0.00003 7 108 | £ ) N v 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
51 | A A A k D) b 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7 109 | A b 7 X e v 0.2 mg/L < 0.002 < 0.002 < 0.002 7
52 | A k =T — k 0.05 mg/L < 0.0005 < 0.0005 < 0.0005 7 1104 F % F 4+ » (DM T P ) 0.004 mg/L < 0.00004 < 0.00004 < 0.00004 7
53 v A k P) b 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7 111 | A K N J A =4 = Mg 0.04 mg/L < 0.0004 < 0.0004 < 0.0004 7
54 |4 A 7 D2 J >~ 0.003 mg/L < 0.00003 < 0.00003 < 0.00003 7 112 | A k D) 7 D2 Mg 0.03 mg/L < 0.0003 < 0.0003 < 0.0003 7
55 |4 A N = b 0.8 mg/L < 0.008 < 0.008 < 0.008 7 113 | A 7 = 7 + > k 0.02 mg/L < 0.0002 < 0.0002 < 0.0002 7
56 XAy b AX L (H — N LN 0.01 me/L 0 114 | A A =i = v 0.1 mg/L < 0.001 < 0.001 < 0.001 7
M RXAF VA F F T F—F . 115 & Y] s _ h 0.005 mg/L < 0.00005 < 0.00005 < 0.00005 7
57 |5 7 D = v 0.1 mg/L < 0.001 < 0.001 < 0.001 7 =3 S A
58 |F v 5 Al 0.02 mg/L 0 (B M ff & B i o o fir) <001 <001 <001 !




